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.     Central tendency (Averages)    .
A measure of central tendency is an average of a data set

An average is a number which represents the group as a whole

 “With our government most people will earn above the average wage”

“Most people have above the average number of fingers”

Could this be true?

Mean
Median
Mode

Calculate the mean, median & mode for these school bag weights. (kg) 

1)  4, 6, 3, 8, 2, 4, 9



Mean =

Median =

Mode =

2)  4.4    4.7    3.5    2.2    4.2    6.7    2.9    4.4    1.5    2.0    3.3    4.9









Mean =

Median =

Mode =
Mean:

The mean is often referred to as the average. To calculate the mean we

STEP 1:
Add all the values up and press     = 

STEP 2:
Divide the total of the values by the number of them

e.g.
Find the mean of the data below:



12, 8, 11, 9, 12

STEP 1:
Add all the values up and press      = 

12  +  8  +  11  +  9  +  12    
=  52

STEP 2:
Divide the total of the values by the number of them

52  /  5



=  10.4 (1d.p.)

Median:

The median is the middle value, when the values have been ordered from smallest to largest.

To find the median we:

STEP1:
Order the data

STEP 2:
Find the middle using the cross off method (cross one of each end until you reach the middle

e.g.
Find the mean of the data below



12, 8 11, 9, 12
STEP 1:
Order the data


8,  9,  11,  12,  12
STEP 2:
Find the middle using the cross off method



8    9    11    12    12



Middle number is 
11

When we have an even number of data values we have to do an extra step:

e.g.
Find the median of the data below


12, 14, 18, 15, 16, 18
STEP 1: Order the data


12,  14,  15,  16,  18,  18
STEP 2: Find the middle using the cross off method


12   14   15   16   16   18

The middle value is half way between 15 and 16. To find calculate the value we:


Add the two numbers and press     =



15 + 16 = 31


Divide the added numbers by 2



31 / 2
= 15.5

The middle value is 15.5

Mode

The mode is the most common value.

e.g. 
Find the mode from the data below

12, 8, 11, 9, 12

12 is the most common number so that is the mode

NOTE: 


· There can be no mode e.g. in the data set  5, 9, 8, 6, 7 there are no common values, therefore there is no mode

· There can be more than one mode e.g. in the data set 7, 6, 8, 7, 6, 5, 4, 6, 5, 7 there are two common values 7 and 6, therefore they are both modes 

· A mode can be 0 e.g. in the data set 0, 1, 2, 0, 0, 3, 2, 0, 1, 0, 3, the most common value is 0, therefore the mode is 0

.     Practice    .
The table shows a selection of nightly room rates ($) for 27 motels in Nelson for October and January.
	October
	
	
	
	
	
	
	

	
	44
	51
	49
	39
	63
	47
	30

	
	48
	48
	37
	29
	33
	28
	47

	
	39
	56
	44
	65
	38
	58
	79

	
	61
	48
	49
	59
	37
	41
	

	

	January
	
	
	
	
	
	
	

	
	84
	101
	56
	69
	88
	81
	86

	
	97
	79
	49
	87
	98
	99
	103

	
	123
	68
	68
	77
	99
	88
	95

	
	71
	101
	99
	109
	67
	68
	


October

Mean = 




Median = 




Mode = 
January

Mean = 




Median = 




Mode = 
Find the mean, median and mode of the data sets below:

1) 4, 7, 9, 3, 5, 6, 7, 7

Mean:

Median:

Mode:

2) 25, 35, 37, 36, 28, 29, 36, 26, 22

Mean:

Median:

Mode:

3) $150, $145, $135, $150, $148, $156, $143

Mean:

Median:

Mode:

4) 56, 58, 59, 45, 57, 48, 53, 54

Mean:

Median:
Mode:

5) 23, 22, 25, 24, 23, 23, 22, 24, 22

Mean:
Median:

Mode:

Fill in the gaps below

· To calculate the mean we _____ all the values together and press ______ on the calculator. We then divide the total amount by how many data values there are.

· The median is the __________ number when a data set is ordered from ___________ to largest

· The mode is the most ________ value in a data set

· There can sometimes be _________than one mode in a data set

.     Pete’s Pies)    .
There are 9 plates at a pie eating competition. 

Each plate can have 9 pies or less on it. 
The mean number of pies on a plate is 4

The median number of pies on a plate is also 4

The mode number of pies is 2
How many pies are on each plate?

Is there more than one solution?

What is the least number of pies needed for a solution?

What is the most number of pies needed for a solution?

Extension:  Can you make a solution with only 2 plates with 2 pies each?

                       How many different solutions are possible? (at least 20!)

































































































































































